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Objective

= |llustrate flows for the following cases
Tx_Init, Rx_Init

Tx_Init, Rx_Getwave

Tx_Getwave, Rx_Init

Tx _Getwave, Rx _Getwave

Wifm at rxpad, Rx_Init

Wifm at rxpad, Rx_Getwave
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Tx_Init, Rx_Init only

Obtain channel
impulse response

huc(t)

A 4

Tx_init call

hTEI(t)*hAC(t)

Y

Rx_init call

A7) (£) N (8)*Piggy ()

\ 4

Input bit stream
and unit pulse

X(t) = b(t) * p(t)

v

EDA tool

Convolution in EDA tool

Stateye type analysis

X(t) * hyg (£)*hyc(t)*hgg (t)

* = convolution
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Tx_Init, Rx_Getwave

Obtain channel
impulse response

hyc(t)

Input bit stream
and unit pulse

X(t) = b(t) * p(t)

A 4

Tx_init call

hTEI (t)*hAC(t)

|

Rx_init call

A4

Convolution in EDA tool

X(t)*h . (t)* h,(t)

Rx_Getwave call

hTEI(t)*hAC(t)

cadence

Sreal X(£) * hog (t)*h e (t) ]

pass in EDA tool

Srecl X(t) * Do (1) *hyc(t) ]
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Tx_Getwave, Rx_Init

Obtain channel
impulse response

hyc(t)

A 4

Tx_init call

A 4

Input bit stream
and unit pulse

X(t) = b(t) * p(t)

h,c(t)

|

Rx_init call

hREI(t) * hAC(t)

Tx_Getwave call

Srecl X(t) ]

\ 4

Convolution in EDA tool

Srecl X(t) T*hc(t)*hgg ()

cadence
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Tx_Getwave, Rx_Getwave

. Input bit stream
Obtain channel and unit pulse

impulse response X(t) = b(t) * p(t)

h,c(t) I

........................ » Tx_Getwave Call

A 4

Tx_init Call ...................... .r

gTEG[ X(t) ]

hAc(t) v
l Convolution in EDA tool
Rx_init call Srecl X(€) 1% h,c(t)
hye(t) | !
E—— > RX_Getwave Ca“

gREG[gTEG[ X(t) ] * hAC(t)]

Pass in EDA tool

Srecl8recl X(8) 1% hy(t)]
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Rx_Init only, wfm at rx pad

Obtain unit channel
impulse response

hACU(t)

A4

Rx_init call

hacu(t)* g (t) = hpg (t)

Waveform
At Rx pad
Wfm(t)

v

Convolution in EDA tool

\4

cadence

WFm(t) * hgg (t)

ASIGRITY



ASIGRITY

Rx_GetWave, Wfm at rx pad (no tx involvement)

Obtain unit channel Waveform
impulse response At Rx pad
hacu(t) Wfm(t)
\ 4
Rx_init call
\ 4
hcu(t) > Rx_Getwave call

Srecl WIM(t) |

\4

Pass in EDA tool

Srecl WIM(t)]
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Summary

Statistical analysis supported only in cases with no
getwave call

Time Domain simulation supported in all the cases

The flow is simpler; there is no need for
Init_returns_impulse and getwave_exists parameters i.e.
when getwave exists only time domain simulation is
supported

Models not supporting getwave simply will not have a

getwave
cadence



